
FASS DIESEL FUEL SYSTEMS®  /  ENGINEERED EXCELLENCE

APPLICATION:

CBK-1001 Heavy Duty Pickup Frame Clamp Bracket

INSTALLATION MANUAL

 TITANIUM  SIGNATURE 
SERIES

OR
TITANIUM  SERIES  WITH 

GRAY  FILTER  BASE



www.fassride.com 
(866) 769.3747

Thank you for cho osing FASS, from 
Diesel Performance Products, Inc.

FASS specializes in building extremely high-quality fuel products. We have earned an 
unsurpassed reputation for excellence in our industry by using only the highest-quality 
American-made components. In order to support our American workers and our American 
economy, more than 98+ percent of our products are manufactured completely in the United 
States.

Of course, that dedication to excellence comes at a price, but it is important to remember 
that price does not dictate quality-quality dictates price! We will never compromise by using 
cheaper, foreign-made components, like so many of our competitors do.

Customer satisfaction is our top priority and we strive always to provide outstanding customer 
service. Our Research and Development department, in conjunction with our Dealer Support 
Department, continually searches for ways to improve quality, expand our product line, and 
provide superb support. Our exclusive ViP Network ensures that customers receive the proper 
products and support at the local level. The extended four-year warranty is only available 
on products purchased from the network. There is no warranty on products not purchased 
outside the network.

For more information, 
contact Technical Support: 

Diesel Performance Products, Inc. 
16234 State Hwy O.  

Marthasville, MO 63357 
636-433-5410



CONTENTS
NOTE: Owner’s Manual available for download on our website, 

www.FASSride.com

(4) 3/8" Hex Nut

www.fassride.com 
(866) 769.3747

CB-1000

(4) WA-2000

(4) WA-2002

CB-1001

(8) 3/8" Washer

(4) 3/8" x 5" bolt



CBK-1001 Installation Quick Guide

www.fassride.com 
(866) 769.3747

Remove the four WA-2002 spacers when installing on thinner frames as necessary.

Be sure to place the four through holes toward the bottom 
when mounted on the frame.

josht
Line

josht
Line



CBK-1001 Installation

www.fassride.com 
(866) 769.3747

A. Using two 3/8" x 5" bolts and 3/8" flat washers, place them through the top holes of
CB-1000. Place two WA-2000 spacers onto the 3/8" bolts and place over the frame rail in the
desired location. NOTE: FOR THICKER FRAMES, YOU WILL NEED TO COMBINE THE 
SHORTER SPACERS (WA-2002) WITH WA-2000.

B. On the inside of the frame, install CB-1001 onto the two 3/8" bolts and secure with two
3/8" flat washers and 3/8" hex nuts. DO NOT TIGHTEN AT THIS TIME.



CBK-1001 Installation

www.fassride.com 
(866) 769.3747

C. Insert the 3/8" bolts (and washers if equipped)  SUPPLIED WITH THE FASS Fuel System
Kit through the back of CB-1000 and hold them in place with RS-2002.

D. Install the two remaining 3/8" bolts with 3/8" flat washers through the bottom holes of
the clamp brackets with WA-2000. Again, thicker frames will need to also utilize WA-2002.
Secure the 3/8" bolts with the remaining 3/8" hex nuts and flat washers.



CBK-1001 Installation

www.fassride.com 
(866) 769.3747

E. While holding the bracket straight, evenly tighten the mounting bolts.

F. Install the PBR-2001 or PBR-2002 onto the four 3/8" bolts and secure with the four
3/8" flange nuts (supplied with the FASS Fuel System kit). Place the three 1/4" FASS
mounting bolts through the back of PBR-2001 or PBR-2002 as shown.



CBK-1001 Installation

www.fassride.com 
(866) 769.3747

G. While holding PBR-2001 or PBR-2002 in the desired position, evenly tighten the 4 flange
nuts.

H. Install the three WA-1001D spacers onto the three 1/4" bolts (supplied with the
FASS Fuel System kit).



CBK-1001 Installation

www.fassride.com 
(866) 769.3747

I. Secure the Fass Fuel System with the three 1/4" bolts and tighten accordingly.


	Blank Page
	Blank Page



